2019F C=&88R2
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2 . SwitchX




2 . SwitchX




1. ifX

> EARFICISXXEESDH ?
s FFIC K> TUIBZZE X T WS (TED
if(fﬁ) pv4

- RZANTZDENOTRRITNLE, XZEITTD.

N

If(n - 1){.JDEE,N - 1MNEHETBZENDTE

* W di D EzHili &L D.
FRANDIA =0T OT S LADEITE.




1. ifX

> EATREFCIfXZEDDM?

c FFIC KO T AEZE X IEWRFICESDS
Bl) A UT=BUENS TEI D YINA LR (CE R
4% 5TEIDEINRL
EEmic UK  “STEIDYINEBA Elmk (TR

Faimlc S0V D FICIRL (SEOZEZTDEFRT)




1. ifX

> EATREFCIfXZEDDM?

c FFIC KO T AEZE X IEWRFICESDS
Bl) AS UEBIENS TR DYINBZhEER(CER (REEDZRN)

» OS5 LT




1. ifX

> EATREFCIfXZEDDM?

« ZFICK O TUIBEZ X U\ E S
) A UEEENSTE| DTN D himR(ICERR




1. ifX

> EATREFCIfXZEDDM?

« ZFICK O TUIBEZ X U\ E S
) A UEEENSTE| DTN D himR(ICERR

“5TEIDYINFEA"
ER




EIRCPODTHELD ! |

\



1. ifX

> EATREFCIfXZEDDM?

wy
) A UTEEBUEN S TEI D YTINRVLNGRR (TR

/* division.c */
#include <stdio.h>

int main(void)

{

int no;

printf(“B&EE AU TF =) 1 ”);
scanf(“%d”, &no);

if(no % 5)
puts(“ZDEI5STEIDUNFTEA. ”);

return O;




E ARG (TS ZfED DM ?
EITHER
op@op: ~/CLangKouza2019/2

771ILF) BE(E) FTR(V) &EZE(S) mFKR(T) ANILTF(H)

%{ S ./fdivision
EH A AL T RS20
a Gjﬁtat STIFEIDTINE T,

S ./division l



1. ifX

> EAREFICITXZEDDH ? no%5 I(dno%Z 5 TEI>TZxRDIE?

i EWVWVDEER
RS
/* division.c */
#include <stdio.h>
int main(void) * ifSX(FIRZFANTZDENOTRRITNIE, XZE
{ 119 2
int no; . 5 DASERSRD (0
printf(“Z2#8% LTF=EL ), -
scanf(“%d’% &no); ‘ ifSXADputs(EEITS RN

i(no % 5) - S5DOEBHELIVESROMNMED (GE0)

puts(“ZDEI5TEIDINFEA. ”);
‘iszW@puts(zt%ﬁénzu

return O;




EAIRBFCIXZfEDS DN ? (EHE)

[E31. 1
division.c Zt{ZE U, AN UTZBENSGHDE “TDE(IEFERTI”
ERRSNDELDICE K.

op@op: ~/CLangKouza2019/2

7 71ILF) fREE) TR(V) BE(S) mRT) ANILT(H)
op@op: $ gcc -o division division.c
S ./division

Dp(@op:
E%EAﬂLTFéums
ZOHIIFTHTT

gp:
EN e ATILTRTL:2

op@op: $

S ./division



1. ifX

> EAREICIIXZEDDON? (HEE)
1.1
BEEB) s+ division.c */

#include <stdio.h>

int main(void)

{

int no;

printf(“BBEZ AN UTTF =L 1 ),
scanf(“%d”, &no);

if(no % 2)
puts(“ZDEIEFTFETI, 7);

return O;




1. ifX

> ifXX EelseX

op@op: ~/CLangKouza2019/2

F(V) BZ(S) WmA(T) NJLT(H)

S gcc -0 division division.c
S ./division

S ./division

BN AN N BImKR(CXEZR R U2




1. ifX

> ifX &elseX
-EZhH

if(\) X1 else X2

Nl U CIF0IR 5 X 1 BAEITSN, € 5 CRlTNIE
X2 PEITEIND

/* division.c */
m “«ZDEITTETT,

JO0S LAEET




1. ifX

> ifX &elseX
-EZhH

if(\) X1 else X2

Nl U CIF0IR 5 X 1 BAEITSN, € 5 CRlTNIE
X2 PEITEIND

- » “ZDMIIBHTT, ”
w - »“%O)iﬁ&(iﬁi‘i&"@
¥, "




1. ifX

» ifX EelseX (FRE)
/* ifelse.c */
#include <stdio.h>

int main(void)

{

int no;

printf(“BEa AN UTTFEL 1 7);
scanf(“%d”, &no);

if(no % 2)
puts(“ZDEFETLNTI . ”);

else
puts(“EDEIBETI . ”);

return O;




ifX &EelseX (FRE)
- EITHER

op@op: ~/CLangKouza2019/2

771 IUF) BEE) RR(V) BEES) WHmART) NILTH)
pp@op:~/CLangKouza2019/2$ gcc -o ifelse ifelse.c
: g;p:~fCLangKouzaZGlgf2$ ./ifelse

B AZJL TERE L2

DHIIBHTT,
: g;p:~/CLangKou232019/2$ ./ifelse
N T ATIL TREL:9
DEUIFHTT,
pp@op :~/CLangKouza2019/2%



1. ifX

,i:%’*?
ﬁﬁ""
TS
== HE T a==b aEbDIENZEULVRS1,E D TRINIE
1= EHE T al=b abDENZF U <712 FNE1,Z2 D TRFrUdo
Faaﬁéﬁi?%?
<HBT ab\ch: DN TS, Z D TRRIFUI0
> EET a>b atbX D AREIFNIE,ETSTRIFNIEZO0
<=HEEBT a<=b abA T2 51,25 TRIFNIEO0
> =EE a>=b af'bl E/R 51,75 TRITNIEZE0

* =ZFE(CE R




1. ifX

/* sign.c */

/i%-jr (%ﬁ_n) #include <stdio.h>
@U) u}baj"L/sz_ ZEND int main(void)

MeEYtd3d 005 A {

int no;

printf(“*“’ﬁi%)\jjb_C_Féb\ ”);
scanf(“%d”, &no);

if(no == 0)
puts(“ZDEI0TT, ”);

else if ( no > 0)
puts(“€DEIIETT, ”);

else
puts(“EDEIFETT, ”);

return O;




(A

EET (RE)
+ RITHER

op@op: ~/CLangKouza2019/2

7 71ILF) #REE) TT(V) &EK(S) =) NILT(H)
op@op:~/CLangKouza2019/2% gcc -o sign sign.c
;Eggp:~/CLangK0u232019/2$ . /sign

BT ATILTFIL:0

FDHIFeTT,

op@op:~/CLangKouza2019/2$ . /sign
%%%lﬂLTFéU£9
ZDHILIIETT,

%B op:~/CLangKouza2019/2% ./sign
BNz AJILTFREL:-56
ZDHIEETT,
op@op:~/CLangKouza2019/2$ |}




1. ifX

> ANFERDEIX

elseDIZE(CEITSE
N3dX & UTif-else
YHEASN TS

elsedDi& A (Cif-elseX %

Tﬁ)\@'%@%’:ﬁ‘ NiREF

X, — M@ D THEH
Hiﬁc‘:ﬂ@b“"@%%...

/* sign.c */
#include <stdio.h>

int main(void)

{

int no;

printf(“*%&’&)\jj LTFEWL:”);
scanf(“%d”, &no);
if(no == 0)
puts(“ZDER(FI0TT, ”); \
else if ( no > 0)
— puts(“ZDEFUIIETY . ”);

lelse
puts(“ZDEIETT, ”);

return O;



Fcﬁ1 2

BIMEZFINAAT, CDEIEZRRT D TOT S
L2 E Ko

~
op@op: ~/CLangKouza2019/2 o t/ I\

771IUF) BEE) RRV) BERES) HmART NILTH) —Eg C‘O) JC
op@op:~/CLangKouza2019/2% gcc -o absoluteval absoluteval.c =
p:~/CLangKouza2019/2% ./absoluteval *I:I "+
75:7\?] LTFEL:0 %

%p /CLanghouzaZUig,fzs . /absoluteval X -
BHE AN L TRE 08 =
"é)ﬂﬂ@l&?%(? / -

op:~/CLangKouza2019/2$ ./absoluteval .
%ﬁﬁ'?\ﬂbf?éb‘:-? ﬁ::ﬁ " /

EHEIRTT Y, PN -
op@op:~/CLangKouza2019/2% (7]-_\0) . /0



1. if¥
N g /* sign.c */
» EHEFTEANT (BEE) #include <stdio.h>

1.2 int main(void)
A1) v
int no;

printf(“*“’;'?ﬁ(’iljjbf_l:éb\ ”);
scanf(“%d”, &no);

if(no == 0)
puts(“€dDEII0TTI, ”);

else if ( no > 0)
printf(“f&8XHE(E%dT I . ¥n”,no);

else
printf(“$EXB(Z%d T I . ¥n”,-1* no);

return O;




1. ifX
> EBEX
ifSelseX ENENDPR TEIDUIEZITUNZU B

- > )A)LITS— 1 |
ifoelseE S (F1 DO IE(F 1 |



1. ifX
> BEX

if(no == 0) {
puts(“ED#IF0TT, ”);
puts(“Br AL LB TADLTTFELY);
by

else {
puts(“fISZE(CLUE L/7' ”)

printf(“REFH: %d”, -1 * no);

- {}_C‘Tﬁ?l’l(i\_jd)ﬁz Cl: btn:b\ug&;éné




1. ifX

> RIBEET |
. HIBANDIEET (FHIBFE)

a&&b

-a&bD@mAMNIERSEE 1L, FENEWFMES5 0,
HARZE TDah Db,

'a b |a&&b

3E0 3E0 1

3E0 0 0

0 3E0 0

0 0 0




1. ifX

> RIEEET
- miEOREE T (GmiEH)

allb

caEbD— ARSI 1L, ZNEWM S50,
HAZE ChazE/z(3b.

a b laab

3E0 3E0 1
3E0 0 1
0 3E0 1
0 0 0




1. ifX

> IEEEF(RE)
else if (a>10 && b>10)

/* logicalope.c */ puts(“2DDENF10KL D KREL N,
#include <stdio.h>

else
int main(void) puts(“cAt”);
{

int_ a, b; return O;
printf(“B&azx AN UL TF=L) 1 7); 1

scanf(“%d”, &a);

printf(“E&bZz AL TF =0 1 7);
scanf(“%d”, &b);

if(a==>b&&a>10){
puts(“2DDEUIFE LY, 7);
puts(“2DDEF10LDKELN, 7);




IEE T (RE)
E17451)
op@op: ~/CLangKouza2019/2

Z71IUF) B®&EE) FTH(V) KRE(GS) =T NILT(H)

pp@op:~/CLangKouza2019/2% gcc -o test test.c
%Ep:~/CLangKou232019/2$ ./test

ENar AZIL TR D15

EBbE AL TTREWL 115

%Ep:~/CLangKouzaZGI§/2$ )
Eax AZILTERTL 25
b AJJL TR [ 98

%Ep:~/CLangKou232019/2$ .
N ax AJZILTFRTL 24
bz AZILTFRE WL e

D fth
op@op:~/CLangKouza2019/25%



2 . SwitchX




2 . SwitchX

» switchX & (&

]szl__l*%x'fﬁF(LcJ:j_CLIE%aZT L\H%(L_1§jo
22U, [E—DI(CDVWTUIEZ B EC Dl = & D IF (C{HAE

switch(zV) { % break; EEK ZET. XD
case O : X 1 break; QBN (T SN T s witch
case /\ : X 2 break; XERITHY

Y/

3

- WX TZDENOTHNL, X12Z2FIT9 D.
IENATHNE. X2ZFITID




2 . SwitchX

/* switch.c */

» switch>X (#&§23) #include <stdio.h>
int main(void)
{
2l U 72BN VT NdDcaseDEE E intno;
— I Do RIEA, printf(“B&Fz AN LU TR0 1 ”7);

scanf(“%d”, &no);

switch( no % 5){
case 0 : puts(“5CTH|D7ZRD (L0 7);

break;
case 1: puts(“5TEIDTZRD (H17);
break;
default : puts(“ZDAHR”); break;
}
return O;




switchX (jBEZ)

[52.1
(1) gk Ufzswitch.ch Sbreak;ZE CHIBR T D EEDIRD ?
HEDTAISRAR K,

(2) ABDUEEHENo(CDWLWT6TEI IR, RDICDWTETDIGEZR R CE=DXL
-:)(L_1Etc;:o

op@op: ~/CLangKouza2019/2

7 7TIUF) $BEE) FR(V) BEE(S) @Wmaw(T) ~NILT(H)
S gcc -o switch switch.c
. /switch

. [switch
. [switch

. [switch

'P@OP




2 . SwitchX
» switchX (GEZD)

2.1

A1)

(1) gnlRUfzswitch.ch*Sbreak; ZETCHIBR I D EEDRD ?
HEDTAISRAR K,

f#) “5TEIDTZRDE0"LE 5 TEIDERD (HM"E"Z2DM " DETHTR RSN,




2 . SwitchX

» switchX (GEZ)

R52.1

AEEE)
(2) ABUREEEN(CDWT6TEIS R, RDICDWTCETDZEZRRCE=DX

SlctE L,




int main(void)

{

int no;
printf("B&noz AL TTF =L 1 );
scanf("%d", &no);

switch( no % 6){
case 0 : puts(“6 CEI>/z5xkD(X0”); break;
case 1: puts(“6 CEID/zsRDI(E17”); break;
case 2 : puts("6 CE|>fzR D (F2");

break;

case 3 : puts("6 CE| D ZFR D (F3");
break;

case 4 : puts("6 CE| D fzFR D (F4");
break;

case 5 : puts("6 CEIDZFR D (X5");
break;

default : puts("€DAth"); break;
3

return O;




SEIONE(FLL LT,

\




